## **UNITECH COMBUSTION**

C1/B/6, VATVA G.I.D.C, PHASE -1 65/6, F-ROAD, NEAR KALUPUR BANK OPP - BANK OF BARODA, AHMEDABAD -382445

# QUOTE

NUMBER

DATE

UC/Q/2023/022

13 June 2023

22,066.00

### COMPANY NAME

## JINDAL ALUMINIUM LIMITED

COMPANY CITY & STATE

BHIWADI

RAJASTHAN

PHONE

9611195368

INQUIRY NUMBER / DATE

EN230601087

#### **UNITECH COMBUSTION**

### **GST NUMBER: 24ACNPH1356D1ZY**

SALES PERSON NAME & NUMBER

MR. JIGEN PANCHAL

78199 50300

QUOTE VALIDITY:

20 DAYS FROM THE DATE OF THE QUOTE

HSN CODE:

84169000

Sr_No	Product Description	Quantity	Unit Price	Amount
1	EG 12 SR GMO, BRAHMA FOFC SOLENOID VALVE	2	2850.00	5,700.00
2	EG 25 SR GMO, BRAHMA FOFC SOLENOID VALVE	2	6500.00	13,000.00
SECTION AND ADMINISTRATION OF THE ADMINISTRA	Designent - 30 d	oy	Duccen	1 - 8 - 1.
	Per Bargola	c	The second secon	
	ren Stoclo.	Cocin	uny -	12 mon 4

COMMERCIAL TERMS & CONDITIONS:	Subtotal	18,700.00
Delivery: EX-STOCK (READY STOCK)	Discount (%)	0.00
	Freight Charges	EXTRA AT ACTUAL
Packing & Forwarding: Nil	Taxable Amount	18,700.00
FOB: Ex-Works – Ahmedabad, Gujarat, India	IGST@18%	3,366.00
Payment Term: 30 DAYS AFTER RECEIPT OF MATERIAL		
Warranty: 12 Months against Manufacturing Defect from the Date		enterente de la composition della composition de
of Invoice	Total Amount	22,066.00
	Round Off	0.00



NOTE:

Payable

**Amount** 



## PARAS ENERGY PRIVATE LIMITED

Works: B-49/11, Sahibabad Industrial Area Site-4, Sahibabad, Ghaziabad, Uttar Pradesh, 201005 Phone: 0120-4273414, E-mail: info@parasenergy.in

## **QUOTATION**

(Quotation:-Q-P-3-2324-074-2)

M/S Jindal Aluminium Limited SP-2/333, , Industrial Area, Bhiwadi,

Alwar, RAJASTHAN, India - 301019

Email Id: rajgopal@jindalaluminium.com,

Kind Attn: Mr. Rajgopal C.Sarda, Mobile No.: 9611195368

Quotation No. Q-P-3-2324-074-2

**Quotation Date:** 13-06-23

Buyer Ref. No.:

Dispatch mode terms:

EN230601087 **Payment Terms:** 

Courier service on freight paid basis Delivery period terms:

100% immediately after

Ex- stock, subject to prior sale.

.0		delivery of mat	erial.			
Sr. no.	Description of Goods	Image	HSN/ SAC	Qty/ unit	Rate (INR)	Amount (INR)
1	Gas solenoid valve, 3/4 inch BSP, imported, 220 VAC, slow open with flow control (GSV-20S-BNCO-ZEVSL-SOFC-220V-0) SOLENOID VALVE 1" Q, 2/2 WAY,TYPE-(EG25*SR.3*GMO), CLASS A, 230VOLT,Pmax-500 mbar	Company of the second of the s	84818 090	2 Piece	10,250.00	20,500.00
2	Gas solenoid valve, Unisys, fast open with flow control, 1/2" BSP, 360 mbar max., with power ON LED indicator (GSV-15S-UC-FOFC-220V-00) SOLENOID OPERATED 2/2 WAY DIAPHRAGM VALVE END FITTING 1/2" BSP WITH 220 VOLT, TYPE-:(EG12*SR*GMO) ) CLASS-A, Pmax-500mbar.		84169 000	2 Piece	3,850.00	7,700.00
Net Amount						
FREIGHT & Amp; CARTAGE OUTWARDS						
IGST @ 18%						
	mode.	iment 1	goins	DE	<b>Gross Total</b>	33,748.00

Bank account details:

Account Name: PARAS ENERGY PRIVATE LIMITED

Amount Chargeable (in words): Thirty Three Thousand Seven Hundred Forty Eight RupeesOnly

Bank Name: M/s Kotak Mahindra Bank

**Account Number: 0711288001** IFSC code: KKBK0000211

Branch: A-23, YOJNA VIHAR, Delhi.

UPI: parasenergy@kotak

CIN

: U29307DL2012PTC233387

**GSTIN** 

: 09AAGCP5168B1ZE

PAN No.

: AAGCP5168B

TAN No.

: DELP20034A

#### **Terms & Conditions**

\*Prices shall be Ex-factory, Ghaziabad UP, excluding packing, forwarding charges and taxes, Or as specified in the quotation.

## VEER APPLIANCES PVT. LTD

AUTHORIZED DEALER FOR ECOFLAME, BENTONE, RIELLO AND WEISHAUPT BURNER & SPARES E-221, Sec-63, Noida-201304(U.P.) Mob: - 9818717854, 9990337333, 01204215401

Email: - chauhanpankaj27@yahoo.in/chauhanpankaj27@gmail.com

Website: - www.veerappliances.com

The state of the s									
Performa Invoice No. VAPL/PI/071/23-24				Date: 13	3/06/202	3			
From,					Ship to:				
M/s VEER APPLIANCES PVT LTD					M/s JINDAL ALUMINUM LIMITED				
E-221,	SEC-63, NOIDA	(201304) U.P.			BHIWADI RA	<b>NASTHA</b>	N		
GST NC	0-09AACCV61	151G1Z9							
YOUR R	EF	DELIVERY MODE DELIV		ERY PERIOD	PAYMENT TERMS				
ENQUIP	RY NO :-	By Customer	r READ		Y STOCK 100% Advance ag		dvance against	inst Performa	
EN2306	01087					invoice			
S. NO.	ORDERING	ITEM NAME		HSN	CODE	QTY.	UNIT PRICE	AMOUNT	
	NO.			GST- 8416			(RS.)	(RS.)	
01	00001	BRAHMA SOLENOID VALVE E			/E EG25 SR	02	9000.00	18000.00	
02	00002	BRAHMA SOLE	NOID	VAL	/E EG12 SR	02	3500.00	7000.00	
Account Name: - Veer Appliances Pvt. Ltd				SUB TOTAL 25000.00				25000.00	
Bank Name: - Bank of Baroda									
Branch: - Main branch Sec-29, Noida				FREIGHT & FORWARDING CHARGES				TO-PAY	
201301 (U.P.)				TAX AGAINST CGST@9%				NIL	
Account Number: - 26290200000578					2	ALL MARKE IN MARKE MARK		100 to 10	
Account Type: - Current IFSC/NEFT code: - BARBONOIDAX					T	AX AGAII	NST SGST@9%	NIL	
Note: - Code is zero not O after BARB						AV ACAIN	IST ICST@199/	4500.00	
MIRC code: - 110012066				TAX AGAINST IGST@18% 4500.00				4300.00	
SWIFT code: - BARBINBBNOI				TOTAL GST				4500.00	
PAN NO: - AACCV6151G			-	TOTAL AMOUNT (DC.)				20500.00	
				TOTAL AMOUNT (RS.) 29500.00				29500.00	
Make all D.D./ Cheque and RTGS payable to: Veer Appliances Pvt. Ltd.									

If you have any questions concerning this invoice, call: 9818717854/9990337333/01204215401

- 1. These prices are valid for 15 days.
- 2. Insurance for transit will be in customer scope. So damage in transit will not be entertained.
- 3. If required, Installation charges + to and fro + lodging and boarding charges will be
- 4. Any extension/ modification required in burner will be on chargeable basis.
- 5. Warranty is against manufacturing defects only if installed by our engineer.
- 6. Any modification required in system will be in customer scope. All tools and consumable items will be in customer scope.

For, Veer Appliances Pvt. Ltd.

payment Dejouent pt por Binaeli

**Authorized Signatory** 

Octorein - 12 mones
Delivy - Recely Stock

P5095-PARAS ENERGY PRIVATE LIMITED. -1204273414-7838218382

U0363-UNITECH COMBUSTION-7929294548-919825391251 V5007-VEER APPLIANCES PVT. LTD.-9818717854- VW0015-THE WESMAN ENGINEERING COMPANY PVT. LTD..-9310035796-22225760

EN230601087

12-Jun-2023

19/06/2023

DT230500745 - 26-MAY-22

		D1230300745 - 26-MAI-23		
1	06000660	SOLENOID OPERATED 2/2 WAY DIAPHRAGM VALVE	2.00	NOS
		END FITTING 1/2" BSP WITH 220 VOLT, TYPE-:		
		(EG12*SR*GMO ) CLASS-A, Pmax-500mbar.,		
		DI230500745 - 26-MAY-23		
2	06000182	SOLENOID VALVE 1" Q, 2/2 WAY, TYPE- (EG25*SR.3*GMO), CLASS A, 230VOLT, Pmax-500	2.00	NOS
		mbar,		

#### Note

- 1) YOU HAVE TO DELIVER THE MATERIAL AS PER YOUR COMMITTED DATE OF DELIVERY AT OUR WORKS FAILING WHICH 2% PENALTY PER WEEK WILL BE DEPENDING UPON THE COMMODITY/ URGENCY OF THE MATERIAL.HENCE, INDICAT DELIVERY PERIOD .
- 2) IN CASE, YOU ARE NOT ABLE TO SUPPLY THE MATERIAL ON OR BEFORE THE DUE DATE WE ARE EMPOWERED TO DIVERT / CANCEL OUR ORDER TO OTHER SUITABLE VENDOR AT THE PREVAILING RATE IN THE MARKET.AND THE PRICE DIFFERENCE IF ANY WILL BE DEBITED TO YOUR ACCOUNT.

Please provide Service Tax/TIN Rigistration No./Certificate . We are releasing our payment through bank hence provide the details of RTGS/NEFT/MICR/BANK ACCOUNT NO.